vov—bFy b A —F

ME 18 B =
RENE B A VX +=Hror—F
m =759
- C >y o[ c
= s - e 3
f F OFN |
B \\ B
. N N7+
MBEEXA T “« A > 2 T
mE TR EAERE A B C D ToRE
-0.15 +0.3 +0.3 +0.2 +0. 1
SM4-E M4X0. 7 0.5~2.0 6.0 10.0 7.0 0.45 6.0
SM5-E M5X0. 8 0.5~2.5 7.0 12.0 8.0 0.50 7.0
SM6-E M6X1.0 0.8~3.0 9.0 15.0 10.0 0.50 9.0
SM8-E M8X1. 25 0.9~3.0 11.0 16.0 12.0 0.50 11.0
SM10-E M10X1.50| 1.0~4.0 13.0 20.5 13.9 0.70 13.0
MeEEARAT
mE ESZE S BEERE A B C D TE
-0.15 +0.3 +0.3 +0.2 +0. 1
SM3-A M3X0. 5 0.5~1.5 4.8 9.0 5.3 0. 40 4.8
SM4-A M4X0. 7 0.5~2.0 6.3 10. 4 7.1 0.45 6.4
SM5-A M5X0. 8 0.5~3.0 7.1 12.0 8.1 0.50 1.2
SM6-A M6X1.0 0.8~3.0 9.5 15.0 10.5 0.60 9.6
SM8-A M8X1. 25 0.9~3.0 10.5 16.0 11.5 0.60 10.6
SM10-A M10X1.50| 1.0~3.0 12.7 19.0 13.9 0.70 12.7
SM10-AL [ M10X1.50| 1.0~5.0 12.7 22.5 13.9 0.70 12.7
5—SI5u
mE ESZE S BERE A B C D ToE
-0.15 +0.3 +0.3 +0.2 +0. 1
LM3 M3XO0. 5 0.3~1.8 5.0 9.5 8.0 0.7 5.0
LM4 M4X0. 7 0.5~2.0 6.0 11.2 9.0 0.8 6.0
LM5 M5X0. 8 0.5~2.5 7.0 12.8 10.0 1.0 7.0
LM5-D M5X0. 8 0.5~2.5 7.0 13.0 1.0 1.0 7.0
LM6 M6X1.0 0.8~3.0 9.0 16.0 13.0 1.5 9.0
LM8 M8X1.25 10.9~3.0 11.0 18.0 15.0 1.5 11.0
LM10 M10X1.50 |1.0~3.5 13.0 20.0 17.0 1.5 13.0
LM10-L M10X1.50 |1.0~5.0 13.0 24.0 19.0 2.0 13.0
ARESMIERI 7 X+ — http://www. fastening. ip/

T374-0073 BE R EMT ERET1090-1
TEL0276-60-5283 FAX0276-60-5284



